CARPATHIAN J. MATH. Volume **38** (2022), No. 3, Pages 837-844 Online version at https://semnul.com/carpathian/ Print Edition: ISSN 1584 - 2851; Online Edition: ISSN 1843 - 4401 DOI: https://doi.org/10.37193/CJM.2022.03.26

Dedicated to Prof. Emeritus Mihail Megan on the occasion of his 75th anniversary

Hyers-Ulam stability of hom-derivations in Banach algebras

Thanasak Mouktonglang¹, Raweerote Suparatulatorn^{1,†} and Choonkil Park^{2,*}

ABSTRACT. In this work, we prove the Hyers–Ulam stability of hom-derivations in complex Banach algebras, associated with the additive (s_1, s_2) -functional inequality:

(0.1) $\|f(a+b) - f(a) - f(b)\| \leq \|s_1 (f(a+b) + f(a-b) - 2f(a))\| \\ + \left\|s_2 \left(2f\left(\frac{a+b}{2}\right) - f(a) - f(b)\right)\right\|,$

where s_1 and s_2 are fixed nonzero complex numbers with $\sqrt{2}|s_1| + |s_2| < 1$.

1. INTRODUCTION AND PRELIMINARIES

The stability problem of functional equations originated from a question of Ulam [28] concerning the stability of group homomorphisms. These question form is the object of the stability theory. If the answers is affirmative, we say that the functional equation for homomorphism is stable. Hyers [11] gave a first affirmative partial answer to the question of Ulam for Banach spaces. Hyers' Theorem was generalized by Aoki [1] for additive mappings and by Rassias [24] for linear mappings by considering an unbounded Cauchy difference. A generalization of the Rassias theorem was obtained by Găvruta [10] by replacing the unbounded Cauchy difference by a general control function in the spirit of Rassias' approach. Park [17, 18] defined additive ρ -functional inequalities and proved the Hyers-Ulam stability of the additive ρ -functional inequalities in Banach spaces and non-Archimedean Banach spaces. The stability problems of various functional equations and functional inequalities have been extensively investigated by a number of authors (see [8, 9, 13, 14, 15, 16, 29]).

Applications of stability theory of functional equations for the proof of new fixed point theorems with applications were the first to furnished by Isac and Rassias [12] in 1996. The stability problems of several functional equations by using fixed-point methods have been extensively investigated by a number of authors, see [4, 5, 7, 19, 23]. For Hyers-Ulam stability of some integral and differential equations, see [26, 27] while for Hyers-Ulam stability of the fixed point problems in metric spaces see [2, 22, 25].

Recently, Park [20] proved the Hyers-Ulam stability of the additive (s_1, s_2) -functional inequality (0.1) in complex Banach spaces by using the fixed point method and the direct method. Next, Park et al. [21] solved the additive *s*-functional inequality:

$$||f(a+b) - f(a) - f(b)|| \le ||s(f(a-b) - f(a) - f(-b))||,$$

Received: 14.01.2021. In revised form: 24.05.2021. Accepted: 31.05.2021

2010 Mathematics Subject Classification. 39B62, 47H10, 39B52, 47B47, 46L57.

Key words and phrases. *Hyers–Ulam stability, hom-derivation in Banach algebra, fixed point method, direct method.* Corresponding author: [†]R. Suparatulatorn; raweerote.s@gmail.com, *C. Park; baak@hanyang.ac.kr

where *s* is a fixed nonzero complex number with |s| < 1. Using the fixed point method and the direct method, they proved the Hyers–Ulam stability of the additive *s*-functional inequality in complex Banach spaces. Also, they presented the Hyers–Ulam stability of hom-derivations in complex Banach algebras.

To obtain the desired results, the following definition is needed to be used later.

Definition 1.1. [21, Definition 1.1] Let \mathcal{A} be a complex Banach algebra and $G : \mathcal{A} \to \mathcal{A}$ be a homomorphism. $\mathcal{A} \mathbb{C}$ -linear mapping $F : \mathcal{A} \to \mathcal{A}$ is called a hom-derivation on \mathcal{A} if F satisfies

$$F(ab) = F(a)G(b) + F(a)G(b)$$

for all $a, b \in \mathcal{A}$.

Now, we recall a fundamental result in fixed point theory.

Theorem 1.1. [3, 6] Let (\mathcal{X}, d) be a complete generalized metric space and $\mathcal{J} : \mathcal{X} \to \mathcal{X}$ be a strictly contractive mapping with Lipschitz constant $\alpha < 1$. Then for each given element $x \in \mathcal{X}$, either

$$d(\mathcal{J}^n x, \mathcal{J}^{n+1} x) = \infty$$

for all nonnegative integers n or there exists a positive integer n_0 such that

(1) $(\mathcal{J}^n x, \mathcal{J}^{n+1} x) < \infty, \quad \forall n \ge n_0;$

(2) the sequence $\{\mathcal{J}^n x\}$ converges to a fixed point y^* of \mathcal{J} ;

(3) y^* is the unique fixed point of \mathcal{J} in the set $Y = \{y \in \mathcal{X} \mid d(\mathcal{J}^{n_0}x, y) < \infty\};$

(4) $d(y, y^*) \leq \frac{1}{1-\alpha} d(y, \mathcal{J}y)$ for all $y \in Y$.

This paper is organized as follows: In Sections 2 and 3, using the direct method and using the fixed point method, we prove the Hyers–Ulam stability of hom-derivations in Banach algebras, associated with the additive (s_1, s_2) -functional inequality (0.1).

2. Hom-derivations in Banach Algebras: A direct method

In this section, we prove the Hyers–Ulam stability of hom-derivations in Banach algebras, associated with the additive (s_1, s_2) -functional inequality (0.1) by using the direct method.

Theorem 2.2. Let $\varphi : \mathcal{A}^2 \to [0, \infty)$ be a function satisfying

(2.2)
$$\sum_{j=1}^{\infty} 4^{j} \varphi\left(\frac{a}{2^{j}}, \frac{b}{2^{j}}\right) < \infty$$

for all $a, b \in A$ and let $f, g : A \to A$ be mappings satisfying

$$\|f(\lambda(a+b)) - \lambda(f(a) + f(b))\| \leq \|s_1(f(a+b) + f(a-b) - 2f(a))\| + \|s_2\left(2f\left(\frac{a+b}{2}\right) - f(a) - f(b)\right)\| + \varphi(a,b),$$
(2.3)

$$\|g(\lambda(a+b)) - \lambda(g(a) + g(b))\| \leq \|s_1(g(a+b) + g(a-b) - 2g(a))\| + \|s_2\left(2g\left(\frac{a+b}{2}\right) - g(a) - g(b)\right)\| + \varphi(a,b),$$

(2.5)
$$\varphi(a,b) \geq \|g(ab) - g(a)g(b)\|,$$

(2.6)
$$\varphi(a,b) \geq \|f(ab) - f(a)g(b) - g(a)f(b)\|,$$

and f(0) = g(0) = 0 for all $a, b \in A$ and all $\lambda \in \mathbb{T}^1 := \{\mu \in \mathbb{C} : |\mu| < 1\}$. Then, there exist a unique homomorphism $G : A \to A$ and a unique hom-derivation $F : A \to A$ such that

(2.7)
$$||f(a) - F(a)|| \leq \frac{1}{2(1 - |s_1|)} \Psi(a, a),$$

(2.8)
$$||g(a) - G(a)|| \leq \frac{1}{2(1 - |s_1|)} \Psi(a, a),$$

(2.9)
$$F(ab) = F(a)G(b) + G(a)F(b),$$

where

(2.10)
$$\Psi(a,b) := \sum_{j=1}^{\infty} 2^j \varphi\left(\frac{a}{2^j}, \frac{b}{2^j}\right)$$

for all $a, b \in A$.

Proof. Let $\lambda = 1$ in (2.3) and (2.4). By Theorem 3.1 in [20], there are unique additive mappings $F, G : A \to A$ satisfying (2.7) and (2.8), respectively, which are given by

$$G(a) = \lim_{k \to \infty} 2^k g\left(\frac{a}{2^k}\right)$$

and

$$F(a) = \lim_{k \to \infty} 2^k f\left(\frac{a}{2^k}\right)$$

for all $a \in A$. Letting b = 0 in (2.3), we get

$$\|f(\lambda a) - \lambda f(a)\| \leq \|s_2\left(2f\left(\frac{a}{2}\right) - f(a)\right)\| + \varphi(a, 0)$$

for all $\lambda \in \mathbb{T}^1$ and all $a \in \mathcal{A}$. So

$$\begin{aligned} \|F(\lambda a) - \lambda F(a)\| &= \lim_{k \to \infty} 2^k \left\| f\left(\lambda \frac{a}{2^k}\right) - \lambda f\left(\frac{a}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 2^k \left\| s_2 \left(2f\left(\frac{a}{2^{k+1}}\right) - f\left(\frac{a}{2^k}\right) \right) \right\| + \lim_{k \to \infty} 2^k \varphi\left(\frac{a}{2^k}, 0\right) \\ &= 0. \end{aligned}$$

Hence

$$F(\lambda x) = \lambda F(x)$$

for all $\lambda \in \mathbb{T}^1$ and all $a \in \mathcal{A}$. So, the mapping $F : \mathcal{A} \to \mathcal{A}$ is \mathbb{C} -linear. Similarly, one can show that the additive mapping $G : \mathcal{A} \to \mathcal{A}$ is \mathbb{C} -linear. For each $a, b \in \mathcal{A}$, it follows from (2.5) that

$$\begin{aligned} \|G(ab) - G(a)G(b)\| &= \lim_{k \to \infty} 4^k \left\| g\left(\frac{ab}{2^k \cdot 2^k}\right) - g\left(\frac{a}{2^k}\right) g\left(\frac{b}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 4^k \varphi\left(\frac{a}{2^k}, \frac{b}{2^k}\right) \\ &= 0. \end{aligned}$$

So

$$G(xy) = G(x)G(y)$$

for all $a, b \in A$. Thus, the \mathbb{C} -linear mapping $G : A \to A$ is a homomorphism satisfying (2.8). For each $a, b \in A$, it follows from (2.6) that

$$\begin{split} \|F(ab) - F(a)G(b) - G(a)F(b)\| \\ &= \lim_{k \to \infty} 4^k \left\| f\left(\frac{ab}{2^k \cdot 2^k}\right) - f\left(\frac{a}{2^k}\right)g\left(\frac{b}{2^k}\right) - g\left(\frac{a}{2^k}\right)f\left(\frac{b}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 4^k \varphi\left(\frac{a}{2^k}, \frac{b}{2^k}\right) \\ &= 0. \end{split}$$

Hence, the \mathbb{C} -linear mapping $F : \mathcal{A} \to \mathcal{A}$ is a hom-derivation satisfying (2.7) and (2.9). \Box

Corollary 2.1. Let r > 1 and θ be nonnegative real numbers, and let $f, q : \mathcal{A} \to \mathcal{A}$ be mappings satisfying

$$\|f(\lambda(a+b)) - \lambda(f(a) + f(b))\| \leq \|s_1(f(a+b) + f(a-b) - 2f(a))\| \\ + \|s_2\left(2f\left(\frac{a+b}{2}\right) - f(a) - f(b)\right)\| \\ + \theta(\|a\|^r + \|b\|^r), \\ \|g(\lambda(a+b)) - \lambda(g(a) + g(b))\| \leq \|s_1(g(a+b) + g(a-b) - 2g(a))\| \\ + \|s_2\left(2g\left(\frac{a+b}{2}\right) - g(a) - g(b)\right)\| \\ + \theta(\|a\|^r + \|b\|^r),$$

$$(2.12) + \theta(\|a\|^r + \|b\|^r),$$

(2.13)
$$\theta \left(\|a\|^r + \|b\|^r \right) \geq \|g(ab) - g(a)g(b)\|,$$

(2.14)
$$\theta\left(\|a\|^r + \|b\|^r\right) \geq \|f(ab) - f(a)g(b) - g(a)f(b)\|,$$

and f(0) = g(0) = 0 for all $a, b \in A$ and all $\lambda \in \mathbb{T}^1$. Then, there exist a unique homomorphism $G: \mathcal{A} \to \mathcal{A}$ and a unique hom-derivation $F: \mathcal{A} \to \mathcal{A}$ satisfying (2.9) and

(2.15)
$$||f(a) - F(a)|| \leq \frac{2\theta}{(1 - |s_1|)(2^r - 2)} ||a||^r$$

(2.16)
$$||g(a) - G(a)|| \le \frac{2\theta}{(1 - |s_1|)(2^r - 2)} ||a||^r$$

for all $a \in \mathcal{A}$.

Proof. The proof follows from Theorem 2.2 by taking $\varphi(a, b) = \theta(||a||^r + ||b||^r)$ for all $a, b \in$ А.

Theorem 2.3. Let $\varphi : \mathcal{A}^2 \to [0, \infty)$ be a function satisfying

(2.17)
$$\Psi(a,b) := \sum_{j=0}^{\infty} \frac{1}{2^j} \varphi\left(2^j a, 2^j b\right) < \infty$$

for all $a, b \in A$ and let $f, g: A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.3)-(2.6). Then, there exist a unique homomorphism $G: \mathcal{A} \to \mathcal{A}$ satisfying (2.8) and a unique hom-derivation $F : \mathcal{A} \to \mathcal{A}$ satisfying (2.7) and (2.9).

Proof. Let $\lambda = 1$ in (2.3) and (2.4). By Theorem 3.3 in [20], there are unique additive mappings $F, G : \mathcal{A} \to \mathcal{A}$ satisfying (2.7) and (2.8), respectively, which are given by

$$G(a) = \lim_{k \to \infty} \frac{1}{2^k} g\left(2^k a\right)$$

840

and

$$F(a) = \lim_{k \to \infty} \frac{1}{2^k} f\left(2^k a\right)$$

for all $a \in A$. The rest of the proof is similar to the proof of Theorem 2.2.

Corollary 2.2. Let r < 1 and θ be positive real numbers, and let $f, g : A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.11)-(2.14). Then, there exist a unique homomorphism $G : A \to A$ and a unique hom-derivation $F : A \to A$ satisfying (2.9) and

(2.18)
$$\|f(a) - F(a)\| \le \frac{2\theta}{(1 - |s_1|)(2 - 2^r)} \|a\|^r,$$

(2.19)
$$||g(a) - G(a)|| \le \frac{2\theta}{(1 - |s_1|)(2 - 2^r)} ||a||^r$$

for all $a \in A$.

Proof. The proof follows from Theorem 2.3 by taking $\varphi(a, b) = \theta(||a||^r + ||b||^r)$ for all $a, b \in A$.

3. HOM-DERIVATIONS IN BANACH ALGEBRAS: A FIXED POINT METHOD

In this section, we present the Hyers-Ulam stability of hom-derivations in Banach algebras, associated to the additive (s_1, s_2) -functional inequality (0.1) by using the fixed point method.

Theorem 3.4. Let $\varphi : \mathcal{A}^2 \to [0, \infty)$ be a function such that there exists an L < 1 with

(3.20)
$$\varphi\left(\frac{a}{2}, \frac{b}{2}\right) \le \frac{L}{4}\varphi\left(a, b\right) \le \frac{L}{2}\varphi\left(a, b\right)$$

for all $a, b \in A$ and let $f, g : A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.3)-(2.6). Then, there exist a unique homomorphism $G : A \to A$ and a unique hom-derivation $F : A \to A$ satisfying (2.9) and

(3.21)
$$||f(a) - F(a)|| \leq \frac{L}{2(1-L)(1-|s_1|)}\varphi(a,a),$$

(3.22)
$$||g(a) - G(a)|| \leq \frac{L}{2(1-L)(1-|s_1|)}\varphi(a,a)$$

for all $a \in A$.

Proof. Let $\lambda = 1$ in (2.3) and (2.4). By Theorem 2.2 in [20], there are unique additive mappings $F, G : A \to A$ satisfying (3.21) and (3.22), respectively, which are given by

$$G(a) = \lim_{k \to \infty} 2^k g\left(\frac{a}{2^k}\right)$$

and

$$F(a) = \lim_{k \to \infty} 2^k f\left(\frac{a}{2^k}\right)$$

for all $a \in A$. Letting b = 0 in (2.3), we get

$$\|f(\lambda a) - \lambda f(a)\| \leq \|s_2\left(2f\left(\frac{a}{2}\right) - f(a)\right)\| + \varphi(a, 0)$$

841

Mouktonglang et al.

for all $\lambda \in \mathbb{T}^1$ and all $a \in \mathcal{A}$. So

$$\begin{aligned} \|F(\lambda a) - \lambda F(a)\| &= \lim_{k \to \infty} 2^k \left\| f\left(\lambda \frac{a}{2^k}\right) - \lambda f\left(\frac{a}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 2^k \left\| s_2 \left(2f\left(\frac{a}{2^{k+1}}\right) - f\left(\frac{a}{2^k}\right) \right) \right\| + \lim_{k \to \infty} 2^k \varphi\left(\frac{a}{2^k}, 0\right) \\ &\leq \lim_{k \to \infty} \left(\frac{L}{2}\right)^k \varphi\left(a, 0\right) \\ &= 0. \end{aligned}$$

Hence

$$F(\lambda x) = \lambda F(x)$$

for all $\lambda \in \mathbb{T}^1$ and all $a \in \mathcal{A}$. So, the mapping $F : \mathcal{A} \to \mathcal{A}$ is \mathbb{C} -linear. Similarly, one can show that the additive mapping $G : \mathcal{A} \to \mathcal{A}$ is \mathbb{C} -linear. For each $a, b \in \mathcal{A}$, it follows from (2.5) that

$$\begin{aligned} \|G(ab) - G(a)G(b)\| &= \lim_{k \to \infty} 4^k \left\| g\left(\frac{ab}{2^k \cdot 2^k}\right) - g\left(\frac{a}{2^k}\right) g\left(\frac{b}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 4^k \varphi\left(\frac{a}{2^k}, \frac{b}{2^k}\right) \\ &\leq \lim_{k \to \infty} L^k \varphi\left(a, b\right) \\ &= 0. \end{aligned}$$

So

$$G(xy) = G(x)G(y)$$

for all $a, b \in A$. Thus, the \mathbb{C} -linear mapping $G : A \to A$ is a homomorphism satisfying (3.22). For each $a, b \in A$, it follows from (2.6) that

$$\begin{aligned} \|F(ab) - F(a)G(b) - G(a)F(b)\| \\ &= \lim_{k \to \infty} 4^k \left\| f\left(\frac{ab}{2^k \cdot 2^k}\right) - f\left(\frac{a}{2^k}\right)g\left(\frac{b}{2^k}\right) - g\left(\frac{a}{2^k}\right)f\left(\frac{b}{2^k}\right) \right\| \\ &\leq \lim_{k \to \infty} 4^k \varphi\left(\frac{a}{2^k}, \frac{b}{2^k}\right) \\ &\leq \lim_{k \to \infty} L^k \varphi\left(a, b\right) \\ &= 0. \end{aligned}$$

Hence, the \mathbb{C} -linear mapping $F : \mathcal{A} \to \mathcal{A}$ is a hom-derivation satisfying (2.9) and (3.21).

Corollary 3.3. Let r > 1 and θ be nonnegative real numbers, and let $f, g : A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.11)-(2.14). Then, there exist a unique homomorphism $G : A \to A$ satisfying (2.16) and a unique hom-derivation $F : A \to A$ satisfying (2.9) and (2.15).

Proof. The proof follows from Theorem 3.4 by taking $\varphi(a, b) = \theta(||a||^r + ||b||^r)$ for all $a, b \in \mathcal{A}$. Choosing $L = 2^{1-r}$, we obtain the desired result. \Box

Theorem 3.5. Let $\varphi : \mathcal{A}^2 \to [0, \infty)$ be a function such that there exists an L < 1 with

(3.23)
$$\varphi(a,b) \le 2L\varphi\left(\frac{a}{2},\frac{b}{2}\right)$$

for all $a, b \in A$ and let $f, g : A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.3)-(2.6). Then, there exist a unique homomorphism $G : A \to A$ satisfying (3.22) and a unique hom-derivation $F : A \to A$ satisfying (2.9) and (3.21).

842

Proof. Let $\lambda = 1$ in (2.3) and (2.4). By Theorem 2.4 in [20], there are unique additive mappings $F, G : A \to A$ satisfying (3.21) and (3.22), respectively, which are given by

$$G(a) = \lim_{k \to \infty} \frac{1}{2^k} g\left(2^k a\right)$$

and

$$F(a) = \lim_{k \to \infty} \frac{1}{2^k} f\left(2^k a\right)$$

for all $a \in A$. The rest of the proof is similar to the proof of Theorem 3.4.

Corollary 3.4. Let r < 1 and θ be positive real numbers, and let $f, g : A \to A$ be mappings satisfying f(0) = g(0) = 0 and (2.11)-(2.14). Then, there exist a unique homomorphism $G : A \to A$ satisfying (2.19) and a unique hom-derivation $F : A \to A$ satisfying (2.9) and (2.18).

Proof. The proof follows from Theorem 3.5 by taking $\varphi(a, b) = \theta(||a||^r + ||b||^r)$ for all $a, b \in A$. Choosing $L = 2^{r-1}$, we obtain the desired result.

ACKNOWLEDGEMENT

This research was partially supported by Chiang Mai University. R. Suparatulatorn was supported by Post-Doctoral Fellowship of Chiang Mai University, Thailand.

REFERENCES

- [1] Aoki, T., On the stability of the linear transformation in Banach spaces, J. Math. Soc. Japan 2. (1950), 64-66
- [2] Bota, M. and Petruşel, A., Ulam-Hyers stability for operatorial equations, Analele Univ. Al.I. Cuza Iaşi. 57 (2011), 65-74
- [3] Cădariu, L. and Radu, V., Fixed points and the stability of Jensen's functional equation, J. Inequal. Pure Appl. Math. 4(1) (2003), Art. ID 4
- [4] Cădariu, L. and Radu, V., On the stability of the Cauchy functional equation: a fixed point approach, Grazer Math. Ber. 346 (2004), 43-52
- [5] Cădariu, L. and Radu, V., Fixed point methods for the generalized stability of functional equations in a single variable, Fixed Point Theory Appl. 2008 (2008), Art. ID 749392
- [6] Diaz, J. and Margolis, B., A fixed point theorem of the alternative for contractions on a generalized complete metric space, Bull. Am. Math. Soc. 74 (1968), 305-309
- [7] EL-Fassi I., Generalized hyperstability of a Drygas functional equation on a restricted domain using Brzdek's fixed point theorem, J. Fixed Point Theory Appl. 19 (2017), 2529-2540
- [8] Eshaghi Gordji, M., Fazeli, A. and Park, C., 3-Lie multipliers on Banach 3-Lie algebras, Int. J. Geom. Meth. Mod. Phys. 9(07) (2012), Art. ID 1250052
- [9] Eshaghi Gordji, M., Ghaemi, M. B. and Alizadeh, B., A fixed point method for perturbation of higher ring derivationsin non-Archimedean Banach algebras, Int. J. Geom. Meth. Mod. Phys. 8(07) (2011), 1611-1625
- [10] Găvruta. P., A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Math. Anal. Appl. 184 (1994), 431-436
- [11] Hyers, D. H., On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941), 222-224
- [12] Isac, G. and Rassias, Th. M., Stability of ψ-additive mappings: Applications to nonlinear analysis, Int. J. Math. Math. Sci. 19 (1996), 219-228
- [13] Jung, S. M., Popa, D. and Rassias, M. Th., On the stability of the linear functional equation in a single variable on complete metric spaces, J. Global Optim. 59 (2014), 13-16
- [14] Jung, S. M., Rassias, M. Th. and Mortici, C., On a functional equation of trigonometric type, Appl. Math. Comput. 252 (2015), 294-303
- [15] Lee, Y. H., Jung, S. M. and Rassias, M. Th., Uniqueness theorems on functional inequalities concerning cubicquadratic-additive equation, J. Math. Inequal. 12 (2018), 43-61
- [16] Nikoufar, I., Jordan (θ, ϕ) -derivations on Hilbert C*-modules, Indag. Math. **26** (2015), 421-430
- [17] Park, C., Additive ρ -functional inequalities and equations, J. Math. Inequal. 9 (2015), 17-26
- [18] Park, C., Additive p-functional inequalities in non-Archimedean normed spaces, J. Math. Inequal. 9 (2015), 397-407
- [19] Park, C., Fixed point method for set-valued functional equations, J. Fixed Point Theory Appl. 19 (2017), 2297-2308
- [20] Park, C., The stability of an additive (ρ_1, ρ_2) -functional inequality in Banach spaces. J. Math. Inequal. **13(1)** (2019), 95-104

 \square

Mouktonglang et al.

- [21] Park, C., Lee, J. R. and Zhang, X., Additive s-functional inequality and hom-derivations in Banach algebras, J. Fixed Point Theory Appl. 21 (2019), Art. No. 18
- [22] Petru, P. T., Petruşel, A. and Yao, J. C., Ulam-Hyers stability for operatorial equations and inclusions via nonself operators, Taiwanese J. Math. 15 (2011), 2195-2212
- [23] Radu, V., The fixed point alternative and the stability of functional equations, Fixed Point Theory 4 (2003), 91-96
- [24] Rassias, Th. M., On the stability of the linear mapping in Banach spaces, Proc. Am. Math. Soc. 72 (1978), 297-300
- [25] Rus, I. A., Remarks on Ulam stability of the operatorial equations, Fixed Point Theory 10 (2009), 305-320
- [26] Rus, I. A., Ulam stability of ordinary differential equations, Studia Univ. Babeş-Bolyai Math. 54 (2009), 125-133
- [27] Rus, I. A., Gronwall lemma approach to the Ulam-Hyers-Rassias stability of an integral equation, Nonlinear Analysis and Variational Problems (P.M. Pardalos et al. (eds.)), 147 Springer Optimization and Its Applications 35, New York, 147–152
- [28] Ulam, S. M., A Collection of the Mathematical Problems, Interscience Publ. New York, 1960
- [29] Wang, Z., Stability of two types of cubic fuzzy set-valued functional equations, Results Math. 70 (2016), 1-14

¹ DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, CHIANG MAI UNIVERSITY, CHIANG MAI 50200, THAILAND *Email address*: thanasak.m@cmu.ac.th *Email address*: raweerote.s@gmail.com

 2 Research Institute for Natural Sciences, Hanyang University, Seoul 04763, Korea <code>Email address: baak@hanyang.ac.kr</code>